
SHOREMASTER.COM  

Boat Lift AccessoriesBoat Lift Accessories

Parts List
DESCRIPTIONPART NUMBERQTYITEM

Wdmt Motor Stop Leg Pocket100571921
Hex Bolt - 3/8 - 16 x 3.0100243222
Hex Bolt - 3/8 - 16 x 2.0100242423
Assy Motor Stop Frame SM Adjustable100571814
Nut Flange 3/8-16 Brass100180245

 

ShoreMaster
      Adjustable Motor Stop - 501066 Vertical  

Failure to follow instructions may 
result in personal injury and may 
invalidate the applicable warranty.
 

STEP 1
Attach the Motor Stop Arm to each Motor 
Stop Bracket. Secure with one 3/8 x 2 Hex 
Bolt and one 3/8 Brass Nut - as shown.
 

STEP 2
Center the Motor Stop Brackets on the Rack 
Beam. Secure each Bracket with two 3/8 x 
3-1/4 Hex Bolts two 3/8 Flat Washers and 
two 3/8 Brass Flange Nuts - as shown.
 

STEP 3
Adjust the Motor Stop Arm to the desired 
position  and tighten all hardware.

Motor Stop Straight Rack
Instructions
Part #: 1006968

3

1

5

2

4




